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QUESTION 1

After a recent upgrade to your Jira system, one of the apps your organization depends on is not working reliably. 

Which two methods can you use to debug and resolve this issue? (Choose two.) 

A. Ask the System Administrator for catalina.out logs and inspect for stack traces. 

B. Ask the System Administrator to enable the SQL log. 

C. Ask the System Administrator to set package com.atlassian to Trace logging level. 

D. Ask the System Administrator to add the app to the logger. 

E. Ask the System Administrator to set the logging level to FATAL on all package names, Under Logging and Profiling. 

Correct Answer: CE 

Reference: https://confluence.atlassian.com/adminjiraserver/logging-and-profiling-938847671.html
https://confluence.atlassian.com/crowd/logging-and-profiling-24248601.html 

 

QUESTION 2

You have planned, tested, and performed a Jira upgrade. 

The upgrade appeared to be a success; however, after several hours of use, your users are reporting 

significant problems and you decide to roll back. 

Which two effects do you expect to see after the rollback? (Choose two.) 

A. Emails will automatically be sent out to tell people about the rollback. 

B. New issues entered between upgrade and rollback will be lost. 

C. The color scheme will be set back to default to indicate there was a rollback. 

D. Jira will go back to the same schemes as before the upgrade. 

E. Jira will need to be reconnected to other systems it was integrated with. 

Correct Answer: DE 

 

QUESTION 3

Three team members have left the company and their issues need to be re-assigned to various -users. 

All of their issues are in the Marketing project which uses the Default Notification Scheme. The scheme 

has never been updated. 

Latest ACP-100 Dumps | ACP-100 Practice Test | ACP-100 Study Guide                                2 / 4

https://www.geekcert.com/acp-100.html
https://www.geekcert.com/acp-100.html
https://www.geekcert.com/acp-100.html


https://www.geekcert.com/acp-100.html
2024 Latest geekcert ACP-100 PDF and VCE dumps Download

How do you inform the new assignees about their re-assigned issues? 

A. Add an announcement banner to the marketing project to inform team members. 

B. Perform a single bulk operation to mention all new assignees in a comment. 

C. Add an announcement banner to each new assignee\\'s dashboard. 

D. Perform bulk operations to re-assign the issues and notify the new assignees. 

E. Use the Send email feature to inform the individual new assignees. 

Correct Answer: C 

 

QUESTION 4

You install a new Jira instance using only the default configurations. A team approaches you to set up a 

project with the following specifications: 

There are four standard issue types and three sub-task issue types. 

The first sub-task will need a new screen for the Edit operation. 

The second sub-task will need new screens for both the Create and Edit operations. 

Everything else should use the default configurations. 

How many new Screen Schemes do you need to create? 

A. 7 

B. 4 

C. 1 

D. 3 

E. 2 

Correct Answer: B 

 

 

QUESTION 5

Tom has asked you why the numbers returned by his searches are not right. He shows you three JQL queries: 
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How can you fix this? 

A. Change the query to project = "Cake Baking" and fixVersion ~ 1.1.0. 

B. Change the query to project = "Cake Baking" and ( fixVersion is empty or fixVersion != 1.1.0 ). 

C. Rename the versions so they do not contain periods. 

D. Identify the missing issues and change the permissions so that everyone can see them. 

E. Change the query to project = "Cake Baking" and fixVersion not in (1.1.0). 

Correct Answer: D 
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